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1 The number of deaths of children less than one year of age per 1000 live births is referred to as
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Life Expectancy

Infant Mortality Rate

Human Development Index (HDI)
Attendance ratio

2 What will be the top priority in the developmental goal of a landless labourer?
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D.

Expansion of rural banking

Metal roads for transportation
Establishment of a high school

More days of work and better wages

3 For calculating (Body Mass Index) BMI, weight of the person is divided by

A.
B.
C.
D.

Square of the weight

Square of the height

Square root of the height

Square of the sum of height and weight

4 Kerala has low infant mortality rate because, it has

A. Low provision of basic health and educational facilities
B.
C
D

Adequate provision of basic health and educational facilities
High mortality rate among elderly people

. None of the above

5 Which of the following is not true about development?
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Different people usually have the same goals.

Different people can have different goals.

Different people can have different as well as conflicting goals.

Different people can have different as well as conflicting goals regarding national
development.

6 Which method is used by the World Bank to classify the countries?
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Human Development
Per capita Income
National Income
Economic Development
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7 Assume there are four families in a country. The average per capita income of these
families are Rs 5000. If the income of three families is Rs 4000, Rs 7000 and Rs 3000
respectively, what is the income of the fourth family?
A. Rs.2000/-
B. Rs.4000/-
C. Rs.5000/-
D. Rs. 6000/-
8 Since the second half of the twentieth century, a number of scientists have been warning that
the is not sustainable.
A. Health and nutrition
B. Per capita Income
C. Development
D. Resources
9 Read the given data and find out which country has the most equitable distribution of income.
Monthly income of five families in country A and country B.
I Il I v V
Country A 500 200 2200 300 400
Country B 8500 8600 9000 9400 9500
Country C 3500 2500 5000 3000 25000
Options: -
A. Country A
B. Country B
C. Country C
D. None of these
10 Study the data and answer the following question.
Some comparative data on Haryana, Kerala and Bihar (2018-19)
State IMR per 1000 live | Literacy Rate | Net Attendance Ratio (per 100
births persons) secondary stage (age 14
and 15 years).
Haryana 33 82 61
Kerala 10 94 83
Bihar 38 62 43
Based on the data identify the most developed state.
A. Bihar
B. Kerala
C. Haryana
D. Kerala and Haryana.
Based on the conflicting developmental goals, which of the following pairs are not correctly
matched?
A. More wages to workers - against the interests of the entrepreneur.
B. Rich farmers want to sell food grains at high prices - poor workers want to purchase it at
low prices.
C. Construction of a dam means more and cheaper power for people - The tribal do not want
to leave the place.
D. Expansion of roads in the city - good for reducing traffic congestion.
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12 Fill in the blank: -
CATEGORY OF PERSONS DEVELOPMENTAL GOALS
a. ? Assured a high family income through higher
support prices for their crops
b. A girl from a rich urban family She is able to pursue her studies abroad.
Options: -
A. Industrial workers
B. Urban unemployed youth
C. Aboy from a rich urban family
D. Prosperous farmers from Punjab
13 Which one of the following statements defines Sustainable Development?
A. Sustainable use of natural resources without considering the needs of the future
generation.
B. Present generation fulfils its needs while considering the needs of the future generation
as well.
C. It means utilization of natural resources by the past, present and forthcoming future
generation.
D. To meet the needs of the future generations even if the needs of the present generation
go unmet.
14 Gaurav currently residing in Surat applied for a job in an educational institution, located in
Delhi. He got selected in an interview. The company offered him a handsome salary. However,
Gaurav is confused. Apart from salary, what other goals should he keep in mind while taking up
a new job?
A. Opportunity to learn
B. Working atmosphere
C. Job security
D. All of the above
15 In the question given below, there are two statements marked as Assertion (A) and Reason (R).

Read the statements and choose the correct option:
Assertion (A): Besides seeking more income, people also seek things like equal treatment,
freedom, security and respect of others
Reason (R): People look at a mix of goals for development.
Options: -
A. Both A and R are true and R is the correct explanation of A.
B. Both A and R are true but R is not the correct explanation of A.
C. Aistrue butRis false.
D. Aisfalse but Ris true
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